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Flu shot:

I .1 110 6 2 3 i~ 2 3
105 67 1350 105 17 3% § 55 96 96 27 4% 6 -24 m_w.

Fourth of July: _
1350 15 -2% —2¢ 134 15 -24 4% 5% 2 1410 5% 21 20 -6% 2% 45 42

Solve each equation or problem and find your solution in the code.
Each time the solution appears, write the exercise letter above it.

B 12x +5 =14 W 4 - 20y = 4 $9a -2 =-26 I 2x -4 =10 N -3n+7=25
@9~ 2k=1 OIm-3=24 Us - 2t=-12 L3g+60=0 AZy+s=1
B Sy — 0 o= v 10, _ _ — 1 1, - 8 7y = 15

= g — 9 =-b @H,Twrl 16 w+ 7 =12 %Hm sV = & gP = —7%

E The Trek Club plans to hike 20 miles today. The & You are a salesperson for Worldwide Widgets. Each
hikers have covered 6 miles so far. If they travel at week you earnx 5200 plus two ninths of your sales.
an average speed of MW mph, how many hours will What dollar amnount of sales do you need this week
it take to complete the hike? h to earn S5007? | S




